Flap valves ASV DArcCoO ventiab

Versions:

RECTANGULAR ROUND

New definition of style

Flap valves are not very complicated devices, but play an important role in ventilation processes. They are used as
endings of ventilation or air heating ducts. Flap valves are installed for practical reasons, but also for aesthetic purposes
- they play a vital decorative role.

ASV flap valves are made of 0.6 mm thick steel. Powder coat used to cover the components not only makes them
more aesthetic, but also protects against corrosion or scratches. Each device is delivered with a mounting frame, that

is made of galvanised sheet metal.

Their eye-catching style makes both versions - square or round shaped, suitable for modern interiors.
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Flap valves ASV

cold and hotair supply
Destination coldand hotair exhaust
forinterior mounting
ML ML-mild steel sheet powder coated
B white
Color
Ccz black

Mounting frame included.

RECTANGULAR AIR SUPPLY / EXHAUST FLAP VALVE

.y
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ASKV x-ML.a

L color (B- white, CZ- black)
material
L,Spiro” diameter

airsupply / exhaust flap valve

ROUND AIR SUPPLY / EXHAUST FLAP VALVE

L/

ASV x-ML.a

‘\; color (B-white, CZ- black)
material
4Spiro” diameter
round air supply / exhaust flap valve
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Dimensions/technical data:

LSpiro” diameter Dimensions [mm] Weight
ol [ A ] 8 [ c | o | ld

100 190 96 98,5 160 0,5
125 215 121 123,5 185 0,6
150 240 146 148,5 210 0,7
160 240 146 158,5 210 0,8

Dimensions/technical data:

LSpiro” diameter Dimensions [mm] Weight
on AT 8 ] c [ o | I

100 190 96 98,5 160 0,5
125 215 121 1235 185 0,6
150 240 146 148,5 210 0,7
160 240 146 158,5 210 0,8
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Flap valves ASV

Airflow charts:

ASKV100-ML - air supply
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Pressure loss Ap [Pa]
ASKV125-ML - air supply
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ASKV150-ML - air supply
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ASKV160-ML - air supply
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Airflow qv, cor[m%/h]
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Airflow q, cor[m?/h]

ASKV100-ML - air exhaust
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ASKV125-ML - air exhaust
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ASKV150-ML - air exhaust
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ASKV160-ML - air exhaust
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< 10
1(x) = 14,3344 x%0,4726

> 8
(x) = 10,8873 x"0,4865

A 6
1(x) = 7,7086 x"0,5156

v 4
1(x) = 5,2153 x10,4994

* 2
f(x) = 1,6223 x10,5347

L)
f(x) = 1,2319 x40,5640

< +8mm
f(x) = 10,0948 x"0,5189

> +6mm
f(x) = 8,0295 x"0,5348

-4 mm
f(x) = 6,2404 x"0,5477

v +2mm
#(x) = 4,9858 x10,5430

-
f(x) = 1,5011 x40,5696

B Minimum
f(x) = 1,3362 x10,5732

< +8mm
1(x) = 13,4656 x"0,5167

> +6mm
f(x) = 10,8413 40,5430

A +4mm
#(x) = 8,0185 x0,5885

v +2mm
f(x) = 7,0187 x"0,5615

*
f(x) = 2,7766 x"0,5342

B Minimum
f(x) = 2,9265 x"0,5330

< +10mm
1(x) = 19,3415 10,5068

> +8mm
f(x) = 17,3275 x40,4929

A m
f(x) = 14,1885 x"0,4932
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£(x) = 10,7100 x"0,5006
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f(x) = 3,1266 x40,5409

= omm
1(x) =2,1030 x40,5894
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Flap valves ASV

Airflow charts:

ASV100-ML - air supply
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< +8mm
f(x) =7,3856 x"0,5617

> +6mm
#(x) = 6,0204 x0,5549

4 mm
f(x) = 5,8303 x0,5026

v +2mm
1(x) = 4,1299 x"0,5077

* 0mm
f(x) = 1,4479 x"0,5093

m -3mm
f(x) = 1,0934 40,5401

-«
(x) = 18,5812 x"0,5060

> 6
1(x) = 14,5466 x"0,4997
1(x) = 10,2650 x"0,5174

Vo2
f(x) = 6,6277 x"0,5051

-
f(x) =2,2129 x"0,5150

= 3
f(x) =1,0191 x*0,5981

< +10mm
f(x) = 26,5495 x0,5007

+8 mm
f(x) = 25,6370 x0,4692

A +6mm
f(x) = 19,1853 x"0,4768

v +4mm
f(x) = 13,0256 x10,5059

¢ +2mm
f(x) = 4,1761x"0,5167

® Omm
f(x) = 3,5812 40,4965

< +10mm
f(x) = 25,0869 x"0,5219

> +8mm
f(x) = 25,7758 x0,4682

A +6mm
f(x) = 19,0328 x"0,4804

v +4mm
f(x) = 13,5110 x10,4968

+ +2mm
f(x) = 4,3288 x40,5117

® Omm
f(x) = 3,8295 x"0,4840

Airflow qv, cor [m%/h]

Airflow qv, cor[m%/h]

Airflow q, cor[m¥/h]

Airflow qv, cor[m¥/h]

ASV100-ML - air exhaust
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ASV125-ML - air exhaust

ASV150-ML - air exhaust
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ASV160-ML - air exhaust
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Pressure loss Ap [Pa]

< +8mm
f(x) = 7,3448 x"0,56325

> +6mm
f(x) =6,3361 10,5201

A +4mm
#(x) = 5,5492 x10,4949

v +2mm
f(x) = 4,0372 X"0,5068

¢ O0mm
f(x) = 1,2565 x"0,5125

H -3mm
f(x) = 0,7956 x"0,5728

< 8
f(x) = 14,9898 x"0,4840

> 6
f(x) = 11,9519 x40,4911

A 4
(x) = 8,2967 x40,5042

v 2
1(x) = 5,4287 x"0,5092

* 0
1(x) = 1,5349 x"0,5688

| -3
1(x) = 0,9646 x"0,5788

< +10m
f(x) = 22,7103 x0,5044

> +8mm
f(x) = 20,7048 x10,4843

A mm
f(x) = 20,1148 x"0,4458

v +4mm
f(x) = 13,3011 x"0,4870

*  +2mm
1(x) = 3,5272 x"0,5490

| 0mm
#(x) = 2,5588 10,5872

< +10mm
f(x) = 20,1776 x"0,5405

> +8mm
f(x) = 18,9501 xA0,5133

A +6mm
f(x) = 16,3891 x"0,5035

v +4mm
(x) = 12,8934 x"0,4957

o +2mm
1(x) = 4,3550 x"0,5098

| 0mm
#(x) = 2,6908 x10,5784
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